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Subtraction practice
Sheet 1

64,784 - 21529 2. 75548 - 43,273 3. 86347 -33720

72583 - 45,251 5. 56421 -24175 6. 92765 -48308

45,287 people live in South Oaktown. 38,145 people live in North Oaktown.
What is the difference between their populations?

The odometer on a six-year old car shows 63,564 miles. In the first five years
it had driven 52,382 miles. How many miles were driven last year?

Challenge

Write a word problem which involves subtracting 45.875 from 50,005. Then explain how you would do
the subtraction if you were solving your own word problem!
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